1 x1 = 2 x1 =
1 ¥ 2= 2 X 2 =
1 x 3 = 2 X 3 =
1 x4 = 2 X 4 =
1 x5 = 2 X5 =
vmera o cttor con | v meraoncttor con
1 x6 = 2 X 6 =
1 X7 = 2 X7 =
1 x8 = 2 X 8 =
1 x9-= 2 X9 =

1 x10-= 2x10-=

Table Table



3 x2
3 x 3
3x4
3xH5

Table

3 X7 =
3 x8-=
3 X9 =
3x10-=

Table

4 x 1
4 x 2
4 x 3
4 x 4
4 x 5

i

Table

4 x 6 =

4 x 8 =
4 x 9 =
4 x10 =

Table



D X2 = O x 7 =
DX 3 = O x 8 =
b x4 = B x 9 =
Bx9= 5x10-=
| vmeraiorctutor col v meraocttorcom
6 x1 = 6 x 6 =
6 x 2 = 6 X7 =
6 x 3 = 6 x 8 =
6 x4 = 6 x9 =
6 x5 = 6x10-=

Table

Table



7 X2 = [/ X7 =
7 X3 = 7/ x 8 =
7 X4 = 7 X9 =
7 x5 = 7x10-=
| vemeraroctutorcof v meraoncttor con
8 x1 = 8 x 6 =
8 x 2 = 8 x 7 =
8 X 3 = 8 x 8 =
8 x 4 = 8 X 9 =

8 x O = 8x10-=

Table Table



9 x 1
9 x 2
9 x 3
9 x4
9 x5 =

Table

10 x 1
10 x 2
10 x 3
10 x 4
10 x 5 =

Table

O x 6 =
Ox7 =

O x 8 =
9 x9 =
Ox10-=

Table

10 x 6 =
10 x 7 =
10 x 8 =
10 x 9 =
10x10-=

Table



